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PHYSICAL EDUCATION
Paper - 11

Note : This paper contains Hundred (100) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Measurement is fact finding because it
merely gives

(A) Raw data

(B) Preliminary status of subjects
(C) Overview of the situation

(D) A starting point of a new work

2. The weight of the object multiplies by
its height from the earth surface that
produces

(A) Kinetic energy

(B) Strain energy

(C) Elastic potential energy
(D) Potential energy

3. Factorial analysis is
(A) Multivariate
(B) Univariate
(C) Bivariate
(D) Nonvariate

4. The suitable sampling procedure for
the population that covers a large
geographical area would be

(A) Stratified sampling
(B) Multistage sampling
(C) Random sampling
(D) Cluster sampling

5. Which one of the following is not a
funding agency for physical education
activities ?

(A) DRDO (B) MYAS
(C) UGC (D) ISRO
K - 2020

6. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R) :

Assertion (A) : Training must be

designed to develop specific strength

to achieve more effective and greater

adaptation.

Reason (R) : Athlete needs, experience

and abilities need not be considered in

specifying the amount of work.

In the context of the above statements,

which of the following is true ?

Codes :

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

7. Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : The human small

intestine is the longest portion of the

alimentary canal.

Reason (R) : Absorption of digested

food requires a large surface area in

small intestine.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)1s true, but (R) 1s false

(D) (A) is false, but (R) is true
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8. Given below are two statements, one 10. Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : Dominant motor or

Biomotor abilities play a keyrole in

performing complex movements.

Reason (R) : All most all physical

activities incorporate elements of

force, quickness, duration and range of

motion.

In the context of the above statements,

which of the following is true ?

Codes :

(A) (A) is false, but (R) is true

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(D) (A) is true, but (R) is false

9. Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : A living cell is a true

representative of life with its own

oragnization and specialized functions.

Reason (R) : Functionally important

elements are found in cells.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(B) (A) 1s true, but (R) 1s false

(C) (A) 1s false, but (R) is true

(D) Both (A) and (R) are true and (R) is
the correct explanation of (A)

K -2020

11.

12.

13.

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : NCTE laydown

guidelines in respect of minimum

qualifications for a person to be employed

as a teacher in schools or in recognised

institutions.

Reason (R) : NCTE ensures the

quality of student centric learning and

teaching.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

The initial step in planning process is
(A) Identification of target group

(B) Determination of goals

(C) Mobilization of resources

(D) Provision of facilities

Which one of the following is not an
administrative duties of the physical
education teacher ?

(A) Purchase and care of equipment
(B) Budget and finance

(C) Office management

(D) Teaching motor skills

As per NCTE regulation which one

of the following physical education
programme meant for preparing
teachers for physical education in
classes VI-X and for conducting
physical education and sports activities
in classes XI-XII ?

(A) D.P.Ed. (B) B.P.Ed.

(C) M.P.Ed. (D) H.P.Ed.
Paper 11
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14. Which one of the following is an example
of authoritarian approach to teaching ?
(A) Child Centred
(B) Principal Centred

(C) Teacher Centred
(D) Parents Centred

15. With a view to recognising the
contribution made to sports development
by entities other than sports persons and
coaches, Government has instituted a
award from the year 2009 named as

(A) Rashtriya Khel Protsahan
Puraskar

(B) Rajiv Gandhi Khel Ratna Award
(C) Dhyan Chand Award
(D) Jeevan Raksha Padak

16. Which are the following not related to
Intrinsic Motivation ?

I. Crowd and environment

II. Self determination
ITII. Money and promotion
IV. Internal reward and reinforcement
Find the correct combinations :

Codes :
(A) T'and II
(C) II'and IV

(B) T and III
(D) I'and IV

17. Find out the correct chronological
sequence of four distinct phases of
public health from the following :

I. Social engineering phase

II. Disease control phase
III. Health for all phase
IV. Health promotional phase
Find the correct sequence :
Codes :
(A) IIL IV, L I
©) IL IV, I, I
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(B) TIL LIV, 11
(D) IV, IL, 1, III
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18. Which of the following scores are
associated with Artistic Gymnastics ?

I. D Score
II. E Score
III. F Score
IV. G Score
V. T Score
Find the correct combinations :
Codes :
(A) Iand T only (B) I and V only
(C) Iand T only (D) I'and III only

19. Role of water in human body are
I. Provides energy
II. Regulate the body
III. Exertion of waste products

IV. Reduce the impact of friction on
bones and organs

Find the correct combination :
Codes :

(A) LITandIII  (B) II, III and IV
(O LIand IV (D) I, I and IV

20. Identify the principles used in sports
training.
I. Specificity
II. Progression
II. Segregation
IV. Adaptation
V. Action-reaction
VI. Overload
VII. Chronic training
Find the correct combinations :
Codes :
(A) LUL1v,vil (B) LI 1V, VI
O 1L a1, v, vl (D) IL 1V, V, VII
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23.

K-

Identify the tests that measures
co-ordination.

I. Ball catch
II. Squat jump
III. Jump rope
IV. Jumping jack
Find the correct combinations :
Codes :
(A) LIIandIII (B) I, III and IV
(O) II,Tand IV (D) I, Il and IV

Stretching joints helps to
I. Reduce muscle soreness

II. Decrease the range
III. Minimise the risk of injury
IV. Increase body temperature
Codes :
(A) I and III are correct
(B) I, IT and III are correct
(C) II, III and IV are correct
(D) II and 1V are correct

Find the correct hierarchical order of the
inter-university sports setup.

I. Secretary, AIU Sports Board
II. M.H.R.D.
III. President, AIU
IV. Director of Physical Education
Find the correct hierarchical order :
Codes :
(A) 1T II IV 1II
) orm 1 1v
(C mommr 1 1v
D) 1 I 1 1v
2020
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Which one of the following pair is

correctly matched ?

(A) The validity of a test, if itis a
measure of the ability in question
— face validity

(B) The validity that do not refer to the
extent to which the test questions are
representatives of the skills in the
specified domain — content validity

(C) The validity that correlates
negatively with already established
test — concurrent validity

(D) The validity that a test measure
a trait derived from observable
constructs — construct validity

Which of the following pair is correctly
matched ?

(A) Uniaxial joint — Condyloid
that allows flexion joint
and extension
movement

(B) Biaxial jointthat -  Hinge
allows all type of joint

movements
(C) Multi axial joint that — Saddle

allows all type of joint
movements

(D) Uniaxial joint that —  Axial
allows rotational joint
movement

Which one of the following pair is not
correct ?

(A) Spinal — Running
deformities  on road
(B) Knock knee — Use of braces
(C) Flat foot — Walking bare foot
(D) Bowleg  — Medical gymnastic
exercise
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32.

K-

Rajiv Gandhi Khel Ratna Award Scheme
was launched during

(A) 1994 -95 (B) 1991 -92
(C) 1996 - 97 (D) 1993 -94

Which list is ‘education’ in Indian
Constitution ?

(A) Central list

(B) Concurrent list

(C) State list

(D) Central and State list

Which is the important agent of
socialization ?

(A) Family
(C) Peer group

(B) School
(D) Community

Which one of the following is not a

invasion game ?
(A) Basketball
(C) Football

(B) Volleyball
(D) Hockey

Which one of the following committee
made excellent recommendations
to organize physical education on a
permanent, year round basis for the
university students ?

(A) The Deshmukh Committee

(B) The Kunzru Committee

(C) The Radhakrishnan Committee
(D) The Kothari Committee

Identify the correct steps for relevant
statistical procedure.

I. Mean values of two groups of
data

II. Mean difference

III. Testing significance
IV. t-value

Find the correct sequence :
Codes :
(A) 1L L IV, III
O LIL IV, I

2020

(B) L 11, IIL, IV
(D) I, 1IL, 1, TV
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Arrange the following in a sequential
order as per the hierarchy of food
pyramid.

I. Grains

IT. Milk, egg and alternatives
III. Fruits and vegetables
IV. Fat/oil, salt and sugar
Find the correct combination :
Codes :
A IO I 1 1v
B) M1V II 1
O 1 1II I iv
D) Iv II 11 1

Arrange the following in a sequential
order based on the higher-order fitness
objectives.
I. Establish your own fitness
program
II. Exercise regularly
III. Evaluate your own fitness
program
Achieve and maintain adequate
fitness
Codes :
(A) T IV III I
B)I1v I 1 II
O 1 Iv I
MD)yI 1o mIv

IV.

Find the correct sequence of psychogenic
model of Freud.

I. Anal stage
II. Phallic stage
III. Oral stage
IV. Genital stage
Find the correct sequence :
Codes :
(A) 1L, L 1T, IV
(B) L IL IV, II
©) LIL I IV
(D) IL, L, IV, I
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Arrange the effects of exercise at heat
in a sequential order based on the
severity

I. Heat stress

II. Heat cramps
III. Heat stroke
IV. Heat exhaustion

Codes :

(A)II IV III 1
@) I 1 IV III
O©) I 1II 1V I
D) I I I 1v

Find the correct sequential order of the
countries which hosted the Olympic
Games from 2004 to 2018

I. Rio de Janeiro Brazil
II. Athens, Greece
ITII. London, United Kingdom
IV. Beijings Chaila
Find the correct sequential order :
Codes :
(A) T 1II IV IlI
(B) I IV III 1
(C) I O 1v 1
(D) arrv m I

Choose the correct naming sequence :
I. British Empire Games
II. British Commonwealth Games

III. British Empire and Commonwealth
Games

IV. Commonwealth Games

Codes :

(A) O, II, T and IV

(B) I, III, IT and IV

(C) OL, I, IT and IV

(D) L 11, III and IV

2020
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Find the correct sequence of ‘shooting
fake’ in Basketball.

(A) Look at the ring, triple threat stance,
knee and shoulder jerk and
jump/dribble

(B) Look at the ring, knee and shoulder
jerk, jump/dribble and triple threat
stance

(C) Triple threat stance, jump/dribble,
knee and shoulder jerk and look at
the ring

(D) Triple threat stance, look at the ring,
knee and shoulder jerk and
jump/dribble

Find the correct sequence of Maslow’s
hierarchy of needs :

I. Physiological needs
II. Safety needs
III. Self esteem
IV. Self actualization
Codes :
A Ivial 1mm I
@ mIv 1 1I
O oI I
(D) 1 11 1II 1v

Emotional skills to develop emotional
maturity are

I. Self awareness

II. Control impulses
III. Resisting negative influences
IV. Delaying gratification
Find the correct combinations :
Codes :
(A) II and III
(C) Tand IV

(B) IlI'and I
(D) M and IV
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Primary function of pectoralis major
muscle are
(A) Flexion, extension, abduction,

internal rotation and horizontal
adduction

(B) Extension, external rotation, internal
adduction and elevation

(C) Adduction, elevation, circumduction
and inversion

(D) Eversion, flexion, external abduction
and vertical adduction

Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : An athlete can run on

track because of force applied by track

on athlete.

Reason (R) : Friction provides the

necessary force for translatory motion

for an athlete starting from rest.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(B) (A) i1s true, but (R) 1s false

(C) (A) is false, but (R) is true

(D) Both (A) and (R) are true and (R) is
the correct explanation of (A)

Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : Power is inversely

proportional to the time taken by the body.

Reason (R) : Power is equally

proportional to the work done by the

body.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(B) (A) 1s true, but (R) 1s false

(©) (A) 1s false, but (R) is true

(D) Both (A) and (R) are true and (R) is
the correct explanation of (A)

K -2020
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Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : Physical education

curriculum should be constructed on the

needs and interest of students.

Reason (R) : Although supervision is

done only by teachers the pupils should

be the ultimate beneficiaries.

In the context of the above statements,

which of the following is true ?

Codes :

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

is the highest award of the
Olympic movement and is awarded for
particularly distinguished contributions
to the Olympic movement.
(A) Olympic wreath
(B) Olympic charter
(C) Olympic order
(D) Olympic batch

The word ‘ADAPTED’ means
(A) To train

(B) To abnormal

(C) To modify

(D) To promote

What is the expansion of LTAD ?

(A) Long Time Athletic Development

(B) Long Term Athletic Development

(C) Long Term Academic Development
(D) Long Term Activity Development
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Which one of the following activity is
not a closed skill in physical education ?
(A) Basketball free throw

(B) Platform diving

(C) Shotput

(D) Fielding a batted ball

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R) :

Assertion (A) : Sociologists have
described sports as an institutionalized
activity.

Reason (R) : Sports activities includes
fundamental characteristics such as
officials rule enforcement, equipment
regulations and formalized skills.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R) :

Assertion (A) : People prefer to wear
white clothes in winter.

Reason (R) : White clothes are good
reflectors of heat.

In the context of the above statements,

which of the following is true ?

Codes :

(A) (A)is true, but (R) is false

(B) (A) 1s false, but (R) is true

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)
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Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : Wellness is the complete

integration of body, mind and spirit — the

realization that everything we do, think,

feel and believe.

Reason (R) : Wellness can be achieved

by doing regular physical education.

In the context of the above statements,

which of the following is true ?

Codes :

(A) (A) is false, but (R) is true

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(D) (A) is true, but (R) is false

Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : Talent is mostly a

genetical, athletes vary in their talent to

perform certain tasks.

Reason (R) : Inherited strength, speed

and endurance play an important role in

achieving high performance.

In the context of the above statements,

which of the following is true ?

Codes :

(A) (A) is true, but (R) is false

(B) (A) 1s false, but (R) is true

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)
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54. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R) :

Assertion (A) : Violence against women

1s increasing among Indian families.

Reason (R) : Economic dependence of

women on their husband may be reduced

by women empowerment.

In the context of the above statements,

which of the following is true ?

Codes :

(A) (A) is true, but (R) is false

(B) (A) 1s false, but (R) is true

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

55. Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R) :

Assertion (A) : Recreation is an essential

part of human life.

Reason (R) : Research has shown that

practicing creative leisure activities is

interrelated with emotional creativity.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)1s true, but (R) 1s false

(D) (A) is false, but (R) is true
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56. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R) :

Assertion (A) : Mass media in India

1s now suffering from celebrity

syndrome.

Reason (R) : Inter-media competition

has compelled them to opt. for it to

servive in the field.

In the context of the above statements,

which of the following is true ?

Codes :

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

57. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R) :

Assertion (A) : There is no disparity

in the amount of coverage of mens and

women’s sport by mass media.

Reason (R) : The traditional attitude of

sport as predominantly a male domain.

In the context of the above statements,

which of the following is true ?

Codes :

(A) (A)is true, but (R) is false

(B) (A) 1s false, but (R) is true

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)
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59.

60.

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R) :

Assertion (A) : Supervision in physical
education is possible on the basis of
scientific evidence.

Reason (R) : Physical education
programs are to be established on the
availability of facilities only.

In the context of the above statements,
which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R) :

Assertion (A) : Aids does not have a
vaccine.

Reason (R) : The Aids virus alters its
genetic code.

In the context of the above statements,
which of the following is true ?

Codes :

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

Which of the following are the benefits
of strong skeletal muscle ?

I. Protecting the Joints
II. Maintaining appropriate posture

ITII. Enhansing the cardiorespiratory
endurance

IV. Improving the sports performance
Find the correct combinations :
Codes :

(A) Tand III
(O LLITand IV

(B) Tand II
(D) L, 1 and III
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Identify the symptoms of high fatigue in
sports training
I. Skin colour — Strongly red
II. Concentration — Nerves/Absent
minded
III. Movement execution — Confident,
Rhythmic and Accurate
Mood — Withdrawal reaction/
Aggressive

IV.

Find the correct combinations :
Codes :

(A) II, III and IV

(B) I, Iand IV

(C) LIl and IV

(D) I, I and III

The name of valve between left atrium
and left ventricle is

(A) Tricuspid valve
(B) Aortic valve

(C) Pulmonary valve
(D) Mitral valve

When the size of class is smaller during
physical education period, a teacher can

I. Provide individual attention

II. Avail more breaks
III. Identify learning problems
IV. Complete the syllabus in short time
Find the correct combinations :

Codes :
(A) IT'and IV
(B) T'and III
(C) Iand II
(D) III and IV
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K-

The most common techniques to assess
body composition are

I. Skinfold calipers
II. Hydrostatic weighing
III. Air-displacement plethysmography
IV. Pedometer
V. DEXA
Find the correct combinations :
Codes :
(A LILIV,V (B) LIULIV,V
O I, aL, 1v, v (b) L1, 11, V

Which of the following are the major
factors influencing sports participation ?

I. Sports and active physical recreation
facilities

II. Age
III. Nationality
IV. Socio-economic status

Find the correct combinations :

Codes :
(A) IILTandIIIT (B) I and I
(O ILIIand IV (D) I, I and IV

Which of the following International
games will always take place shortly
after the olympic games held at the same
venues and cities ?

I. Youth olympic games

II. Special olympic world summer
games

III. Summer paralympics

IV. Special olympic world winter
games

V. Winter paralympics
Find the correct combinations :
Codes :
(A) I, I and IV only
(B) I, Il and V only
(C) I and V only
(D) IT'and IV only
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67.

68.

69.

Total Number of Pages : 40

Examples of instinct motivated behaviour
in animals are
I. Migration
II. Mating
ITII. Hunting
IV. Socializing
Find the correct combinations :
Codes :

(A) Mand IV~ (B) Tand III

(C) I'and IV (D) I'and II
Respiratory Quotient (RQ) is
represented by

0 / |
A) 2 B) C /
W oo,  ® Y

N CO
(OR= D) )
Match List — I with List — II and select
the correct option from the codes given
below :

List -1 List - II

a. Triphod grip 1. Pingpong

b. Pen grip II. Softball game
c. Warden grip III. Golf
d. Finnish grip 1V. Javelin
V. Pole-vault
Codes :
a b ¢ d

(A) I I 1v v
@B)mIiv 1 I
O IV vV II 1
(D) I 1 0 v
Paper 11
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70. Match List — I with List — I and select
the correct option from the codes given

below :
List - I List — II
a. Homeric age I. Wholesome
physical
development
b. Sparta II. Paidotribe
c. Athens III. Gymnastics
d. Denmark IV. Health and
Fitness
Codes :
a b ¢ d
A Iv1II 1 I
B)Iv 1 IO 1
O 1 o1 m Iv

M) 1 M IV T

71. Match List — I with List — II and select
the correct option from the codes given

below :
List -1 List — 11
a. Direction [. Swimming
b. Lane II. Kho-Kho
c. Block III. Judo
d. Shart set IV. Table Tennis
e. Hantel V. Tennis
Codes :
a b ¢ d e
Ao 1 v 1Iv
@ I 1 m v 1v
O oI v v I
MDb) muau v Iv 1
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72. Match List — I with List — I and select
the correct option from the codes given

below :
List -1 List — 1T
a. Ancient Greece 1. Tre Kronor
b. Rome II. Valdislov Tretiak
c. Sweden III. Authenian
Civilization
d. Russia IV. Dark Ages
Codes :
a b ¢ d
A I 1 1V 1I
) HOorIiv 1 1
G mmIv m 1
MGy m 1 I1v

73. Match List — I with List — I and select
the correct option from the codes given

below :
List-1 List - II
a. 2:2:2system I. Volleyball
of play
b.4:3:2:1:1 II. Football
system of play
c. 1:3:3:1 III. Kho-Kho
system of play
d. 5:1 system IV. Kabaddi
of play
Codes :
a b ¢ d
A)Iv. II 11 I
(B) I 11 1v 1
O 1 I m 1w

MGymiIiv 1o 1
Paper 11
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74. Match List — I with List — II and select
the correct option from the codes given

below :
List -1 List - II

a. Osteoarthritis 1. Infection of
bone

b. Osteitis II. Degeneration
of cartilage

c. Osteomyelitis III. Inflammation
of bone

IV. Loss of calcium

from the bones

d. Osteoporosis

Codes :

a b ¢ d
(A) I 1II IV III
B OrIiv 1m 1
O IV II 1 11
M) I ur 1 1v

75. Match List — I with List — II and select
the correct option from the codes given

below :
List -1 List - II
Periodisation Aim
a. Preparatory I. Recovery and
period phase relaxation
Iand I
b. Preparatory  II. Achieving
period top form and
phase II1 maintain it for
long period
c. Competition III. Regain the
period previous

training state
and develop

performance
factors
d. Transitional IV. Preparing the
period athlete for
competition
period
Codes :
a b ¢ d
A IIr 1 1m 1
o ua 1 Iv

(T IV I 1
M) M IV I I

K -2020
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76. Match List — I with List — II and select
the correct option from the codes given

below :
List-1 List — 11
Pulse Place
a. Carotid pulse I. Elbow
b. Radial pulse II. Foot
c. Brachial pulse  III. Neck
d. Pedal pulse IV. Wrist
Codes :
a b ¢ d
(A)yar v 1 11
o 1r o iIv
O o uar v oI
MD)ynon 1 1ur 1v

77. Match List — I with List — II and select
the correct option from the codes given

below :
List -1 List — 11
a. r I. Force
m
b. FxD II. Velocity
c. mxa III. Work
d W IV. Power
T V. Acceleration
Codes :
a b ¢ d
AV I 1 1v
@I m 1 1v
OI1 I m v

DIV VvV I 1
Paper 11
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78.

79.

80.

K-

Find the correct hierarchical order of the
University sports Board

I. Sports Advisory Committee
II. Vice-Chancellor
III. Director of Physical Education

IV. College Physical Education
Teacher

Find the correct hierarchical order.
Codes :

A I 1 01 v

G omm 1 I

O I 1 IV 1

D) 1 0O o v

Linear Kinematics comprehend
I. Speed

II. Mass

III. Distance

IV. Displacement

Find the correct combinations :
Codes :

(A) L II, III and IV are correct
(B) I and II are correct

(C) I, I and IV are correct
(D) II, III and IV are correct

The mechanical principles that are related
to our body balance and alignment are

I. Center of gravity

II. Line of gravity
III. Base of support
IV. Line of support
Find the correct combinations :
Codes :
(A) I, Il and IV
(O I, Tand IV

(B) 1, 11 and TI1
(D) TV, I and T

2020
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81.

82.

83.

Total Number of Pages : 40

The aims of tactic training can be
achieved by accomplishing the following

I. Tactical knowledge

II. Tactical skills

III. Tactical teaching
IV. Tactical abilities

Find the correct combinations :
Codes :
(A) , TandIIIT (B) I, T and IV
(O II,Iand IV (D) I, III and IV

Identify exercise of the variation
in movement execution to develop
coordinative ability

I. Change in the surface
II. Changing in starting or end
position

ITI. Range of movements of body parts
IV. Dribbling with two balls

Find the correct combinations :

Codes :
(A) Land Il (B) I, and IV
(C) I'and III only (D) L, II, I and IV

Which one of the following pair is not

correct ?

(A) The variable that show the effect of
independent variable — Dependent
variable

(B) The variable that effect the
relationship between two variables
— Intervening variable

(C) Variable that bear numerical value
— Continuous variable

(D) The variable that is kept constant to
know the treatment effect — Control
variable

Paper 11
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84. Which of the following pair is not

correctly matched ?

(A) Indus Valley Civilization —3200 BC
to 2000 BC

(B) Historical age — 1000 BC to
600 BC

(C) Early Hindu period — 600 BC to
320 BC

(D) Mughal period — 1200 AD to
1857 AD

85. Match List — I with List — II and select

the correct option from the codes given

below :
List -1 List - II
a. Ludwig I. Asian
Guttmann games
b. Eunice II. Paralympic
Kennedy games
Shriver
c. Pierre de III. Special
Coubertin Olympics
d. Prof. IV. Modern
G. D. Sondhi Olympic
games
Codes :
a b ¢ d
Ay 1m v I
)1 1v 1 1
()0 11 0 | B O A

M) MM IV I
K - 2020
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86. Match List — I with List — II and select

the correct option from the codes given

below :
List -1 List — II
a. Endorphins I. Feel good
harmones
b. Medulla II. Emotion
c. Cerebellum III. Motor Control
d. Limbic system IV. Reflective
activities
Codes :
a b ¢ d
A Horiv 1 1
(B) I OI IV 1
O 1 1Iv 11 1
MOy Ivir 1o 1
87. Match List — I with List — II and select
the correct option from the codes given
below :
List -1 List — I1
a. Jugular I. Large
b. Magnum II. Throat
c. Mastoid [I. Chew
d. Mandibular IV. Breast shaped
Codes :
a b ¢ d
Al 1T IV I
)1 I Iv 1l
oo o roIv
MGymiIiv 1 I
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88. Match List — I with List — II and select

the correct option from the codes given

below :

List -1 List — 11
(Physical (Year of
Education Establishment)

Institutions in
pre-independent
India)
a. Vyayam Prasarak I. 1931

Mandal, Amaravati

b. YMCA College of II. 1932

Physical Education,
Madras

c. Govt. College of III. 1914

Physical Education,
Hyderabad

d. The Christian College IV. 1920

of Physical Education,

Lucknow
Codes :

a b ¢ d
A v 1m I
@ oI 1 1
O IV 1 o m
Gy o 1 1v

K -2020
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89. Match List — I with List — II and select

the correct option from the codes given

below :
List -1 List — 11
Knowledge Strong Points
Test Items

a. Completion

1. Reduce the

items problem of
guessing
b. Multiple II. Provide
choice items coverage
that does not
covered by

c. Matching

items

other test items

III. Can be applied

to most types

of material and

information
d. True-false IV. Covers
items maximum
material in a
minimum space
Codes :
a b c
(A1 1 1v
o 1 o iv
O o oI

(D) IV Il 11
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9(0. Match List — I with List — II and select

the correct option from the codes given
below :

List-1
a. Adaptation

List - 11
I. Muscle directly
engaged in a

muscular
contraction
b. Ecentric II. Resistance is
contraction more than the
muscle force
c. Concentric  III. Adjustment

contractic of an organism
to the changing
environment
d. Agonistic IV. Muscle force is
muscle greater than the
resistance
Codes :
a b ¢ d
(A)III I 1v 1
@ oI 1 1
O 1 1m our v

M)l M IV 1

91. Match List — I with List — II and select
the correct option from the codes given
below :

List -1 List - 11
(Philosopher) (Method of Teaching)

a. Socrates I. Inductive and
deductive
method

b. Plato I1. Discussion
method

c. Aristotle  III. Question method

d. Herbert IV. Experimental
method

e. John Deway V. Conversational

method

Codes :

a b ¢ d e
Ao v 1 I 1v
) II v 1Iv 11 1
Gov 1 miIv
M)V 1 1m 1v 1

K-2020
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92. Match List — I with List — II and select
the correct option from the codes given

below :
List -1 List — 11
a. Hypothalamus I. FSH and LH

b. Anterior pitutory II. Androgens

c. Testis III. Estrogen
d. Ovary IV. Gonado Trophin
Codes :
a b ¢ d
(A)I I 1ur v
B)I1viar o I
O Iv 1T I 1

M) IV 1 1

93. Match List — I with List — II and select
the correct option from the codes given
below :

List -1 List - 11
(Research Methods) (Study about)

a. Historical
method

b. Survey method

I. Vision

II. Present events

c. Experimental III. Past events

method

d. Philosophical IV. Future action
method V. Exceptional

cases

Codes :
a b ¢ d

(A)IIT V IV 1

B)Or m v 1

OI1 1Iv I 1m

M) IV I M I
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94. Match List — I with List — II and select

the correct option from the codes given

below :
List -1 List - II
a. A non-parametric I. ztest

technique to compare
obtained results with

those to be expected

b. A statistical test to II. Correlation
determine the

significant difference

between the

sample mean and

population mean

c. A statistical technique III. F-ratio

to establish the
relationship
between variables
d. A testto asses the IV. Chi-square
significant difference test

in the means of more

than two groups

Codes :
a b ¢ d
(A)IV 1T 1 I
B)IvVv I 1 I
O 1 1o v 1
Mo 1 1m 1v
K -2020
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95. Match List — I with List — II and select
the correct option from the codes given

below :
List -1 List — 11
(Diseases) (Meaning)

Abnormal mass of
tissue that results from
excessive cell division
An abnormal
non-cancerous growth
filled with liquid
Abnormal cells divide
without control and
destroy body tissues

a. Cancer 1.

b. Tumor II.

c. Fibroid III.

d. Cyst IV. Non-cancerous growth
in the uterus that can
develop during a
woman’s childbearing
years

Codes :

a b ¢ d

(A)I II IV 1

B)I IV II I

(G011 B U | G A

MDym 1o v 1

Read the following and answer the question
numbers from 96 to 100.

Sports associations or federations are voluntary
autonomous organizations of sports lovers,
athletes, sports fans, activity promoters,
sports organizers, etc., with certain specific
shared interests and objectives of sports
development among the masses. The roots of
an organized sports body lie in the club culture
at the baseline. It is well known that clubs
are the backbone of the sports association
systems, not only in India but also across
the world. A sports club in an epitome of
a sports organization at the lowest level of
lowest organizational hierarchy. At its best
a club is a recognized (often registered)

Paper 11
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formal closely-knit body of individuals with
common sports interests. Ranging from
an informal neighbourhood sport club to a
national/international association/federation
for a particular sport such basketball, hockey,
football or archery. In general, a typical
club has a written constitution (rules and
regulations) clearly spelling out its aim and
objectives, composition, jurisdiction, office
bearers and their functions, membership
regulations, etc., A sports club usually caters
to one game/sports and may be named after
a celebrity (Jawahar Football Club), a place
(Jaipur Polo Club), a community (Mohd.
Sporting). Or a high-sounding concept (e.g.
National Badminton Club). A sports club
sustains itself on membership fee, service
charges, donations, grants, tournament levies,
gate money, advertisements, sponsorships,
leasing out buildings, etc. Depending upon its
resources, a club may be as rich as a business
house or as miserly as a street urchins’ marble
playing gang. Both amateur and professional
sports clubs, the migration of players from
one club to another is not uncommon and the
practice is governed by certain set of rules
mostly formulated by the sports associations
to which clubs are affiliated. In other kinds of
clubs such as recreation or literary clubs, the
member migration is hardly in vogue.

96. Identify the voluntary organizations of
sports
I. Athletic Club
II. Sports Authority
III. AIU Sports Board
IV. Bangalore Football Club

Find the correct combinations :

Total Number of Pages : 40

97. The roots of an organized sports
association virtually lie in the
(A) Sports structure
(B) Native soil of a place
(C) Club culture
(D) None of the above

98. A sportclubmay bear the commemorative
name of a/an
I. National hero

I1. Famous place
III. High sounding concept
IV. Social philosophy

Find the correct combinations :

Codes :

(A) I, II and III

(B) I, I and IV
(C) II, I and IV
(D) III and IV only

99. Which is not true statement about sports

association ?

(A) Itis a voluntary organization

(B) It has linkage with olympic
association at appropriate level

(C) Itis brought into existence by sports
persons only

(D) Membership is open to affiliated
clubs

100. A sports club possess following
characteristics.
I. Political clout

II. Jurisdiction

III. Membership

IV. Memorandum of association
Find the correct combinations :
Codes :

(A) I, TIT and TV
(B) 11, IIT and TV
(C) 1, TI and TII

(D) I, T and TV

Codes :

(A) T'and II (B) II and III

(©) Iand IV (D) III and IV
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